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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following as
directed : 1x10=10

woe RAERS 7|1 R @ e fet i Tes
faan

(a) What is aggregate demand?
sfas otz 2

(b) Express effective demand in a four-
sector system.

5 eIy Tafee Ay BifRal aer I |
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(2) ?; (3)

(c) What is open economy? o oss
& weAife 2 | T
. \ ‘ o
Ul fectly inelastic
() Mundell-Fleming model assu ‘ () per
mes that ‘
capital is ‘; Frjeface] SRR

(Choose the correct option)

TouT-GFRR SRS oo ozt a1 =

(i) perfectly mobile (o= fRpsrer it Sferean)
AR Do 2o (g Who developed the purchasing power
(ii) perfectly immobile patityAsicess
ST SO 6T | T AR Tl TGO (e TR R ?
(iii) imperfectly mobile 1 (h) Define asset market.
SRTITe! BT 251 | S eI K@ i |
(Choose the correct option) () What is Capital Account in Balance of
(o Rt 3172 Beven) Bap e B
@ SR e {21 6 0
(e) What is the shape of lone. e
SleveD Pe of long-run Phillips () At the point of effective demand
Wﬁ%ﬁ@ww@%m? ey oI o
(i) aggregate demand = aggregate
() The 1aggl‘egatt.e supply function at full supply
employment is fAS iRl = FHfaF @
Tf l ® TR QUM FeTeo1 275 (i) aggregate demand > aggregate
(i) more elastic supply
ge Rfowem AT SifEwl > AHET @

gy Turn Over
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(4)

(i) aggregate demand < aggregate
supply

SRS 1R < TRES e
(iv) Both () and (i)
(i) &% (iti) Ty
(Choose the correct option)

(= 5001 AR Sherear)

(k) Supply inflation is caused by
A [@PHIT IR 205
(i) wage push
TR o
(@) mark-up pricing
-1 o
(i) profit push
aTeq (201
(iv) All of the above
S*RI HGREIR
(Choose the correct option)

(= ﬁm qﬁ% %%T@@T)
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(o)
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(S)

The natural rate of hypothesis involves

Ao 2T S Tfbe T

(i) adaptive expectation
SfeIfere o

(ii) rational expectation
Sk Sl

(iii) Both (i) and (1))
(i) =< (i) T

(Choose the correct option)

(= ot AR Sferean)

Write one measure to control cost-push
inflation.

e U g PR @b Tom A |

Mention the I-S components of
Mundell-Fleming model.

ilz\‘ﬁf—aFﬁ‘{ ofEe  e-Riacesm  SomeeEE
T 9

Define  arbitrage in international
payment.

o TS SR e i |

What is international financial market?

ageifes REw Te 2
( Turn Over )
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(@) Write one criticism of effective demand.

s BT b1 e B |

() The concept of foreign trade multiplier
was developed by

e 1ieTT @ qRACeT Tate IR
() R. F. Khan
UH. 9%, 9
() J. M. Keynes
(R 99, (PR
(i) Samuelson
CRYCHT=A
(Choose the correct option)
(o= RF=c0 ifx Tfereq)
2. Answer any five from the following : 2x5=10
TS frRICa o[ R e Wb Sew oy

(@) What is Eurocurrency market?

AN R IGF F 2

(b) Define natural rate of unemployment.
IR 2o 29 siee fia |

(c) What is meant by mark-up inflation?

T -1 JEr e R e 2
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(e)

(9)

(h)

G)
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Write the reasons for inverse
relationship between inflation and

unemployment.
R o frge e fede O
PR T |

Mention two assumptions of Mundell-
Fleming model.

-Gk SRS 1 S Seer <

Define effective demand.

ey SR kel el |

What are the determinants of

equilibrium rate of interest?

ST A T R 2

In what way expectation influences the

rate of exchange?

a2, 3 490 T T 2SI T2

Mention two limitations of adaptive

expectation.

WW@WWWI

What is foreign trade multiplier?
e e 8P &2
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(8] (9)

3. Answer any four from the following :  5x4=20 () What are the prerequisites of Keynesian
)
T fraaRe o/ R e siierE Tee i theory:
' @ o TR 7 192

(a) Explain briefly the monetary approach

to Balance of Payments (BoP). () What is aggregate supply? How doc?s
te supply curve determine in

@ MeR (BoP) Wi g Ry ' aggregate )
SY(F R Keynesian economics?

e @ 57 Q% SdAfee e

(h) Write a note on Dornbusch’s e @41 e e T2

overshooting model.
W{R W’Wﬁ%‘{ TEGR /e 961 G (h) Explain the concept of demand-pull
frm \ inflation.

W_W@WWWWWI

(c) Distinguish between spot and forward
exchange rate.

5 R 2w e e ' 4. Answer any four from the following : 10x4=40
| - Teq 3l :
4wl Wwwﬁ@mmﬁ%ﬁ oq

hat is rate of exchange? Explain the

(d) Briefly explain the components of (@) . ation of equilibrium rate of
international financial market. det;r;;a 2+8=10
exc ;
TERNSF R T CAMPHR S Ay 2 R ST R 2w fRcq T
9 '
71 =, IR T
(¢) How does natural rate hypothesis p critically - the rational
explain the unemployment-inflatio (b) Explaint w9
relationship? ' expectation yp Tihe
AP I FFE R e iy < 7 ,o
T (PN T
cfiﬁﬁ%ﬁf&ﬁnl ‘ ; (TumOver)
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(i)
(10 )

(h) Explain the purchasing power parity
theory of exchange rate.

R 29T T FIOR TS OGC! I 4 |

(c) Explain the asset market approach to
determine exchange rate.

R 2w fefae sfater sm T g

i () Explain the determinants of aggregate

demand.
(d) Establish the relationship between ; frq ﬁ!ﬁWWWl
foreign trade multiplier and marginal ‘
propensity to import.
QPR AR e W dfe SR
HRTOR &R STAHCHT Bl 41 |

() Explain the factors that cause
fluctuation in the exchange rates.

R e SRTeR MR I FRPFR IR
(e) Discuss the Mundell-Fleming model in S/
terms of monetary fiscal mix policies
under fixed exchange rate with perfect W
capital mobility.

T EFRET e 7 Tozeis R Nocs
I | '

et e

(f). Discuss . the determination of
. equilibrium  level of employment
through effective demand.
e v wfaes SRt e ww) R
forfiee a1 =, wicemea 3= |

(9) Examine the police effectiveness of
Phillips curve.

iR @3 Moare FrERT 00w 350 |
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